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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.
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Which date marked a major leap for
mankind in travel? Orville and Wilbur
Wright, bicycle manufacturers, flew the
first engine driven aero plane near Kitty
Hwak, N.C. USA.

a) November 15, 1902

b) October 2, 1905

¢) November 11, 1900

d) December 17, 1903

The e-ticketing system of the Indian
Railways is capable of handling how
many tickets per minute?

a) 1800

b) 2000

c) 2200

d) 2400

Which are the two famous tourist
destinations that Thomas Cook used to
conduct tour in India in the last quarter
of 19" century?

a) Aurangabad and Darjeeling

b) Mahabalipuram and Ooty

¢) Agraand Gulmar

d) Delhi and Jaipur

Deductive research is one that helps in

a) Drawing inference from a general
principle to a particular conclusion

b) Drawing from the evidence in the form
of conclusion

¢) Drawing conclusion on the basis of
tentative facts

d) Deriving variables based on
observation

Fayol’s principles of management does
not include

a) Equality

b) Discipline

¢) Unity of command

d) Division of work

Tourists who tend to search for
authentic experience can be termed as
a) Drifters

b) Explorers

¢) Individual mass tourists

d) Organized mass tourists
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Which one of the following combination

is the correct order of Doxey’s Irridex

Index Model?

a) Indifferent — Annoyance —
Euphoric — Antagonistic

b) Antagonistic — Indifferent —
Annoyance — Euphoric

¢) Euphoric — Indifferent —
Annoyance — Antagonistic

d) Annoyance — Antagonistic —
Indifferent — Euphoric

What is the name of Mantaign’s travel
book?

a) The voyage the great

b) Journal de voyage

¢) Voyage de world

d) Travel de world

The mural paintings at Ajanta depict
which religious philosophy?

a) Buddhism

b) Jainism

¢) Hinduism

d) Buddhism, Jainism and Hinduism

Which one of the following key statistics
is not associated with factor analysis?

a) Bartlett’s test of sphericity
b) Communality

¢) Eigen value

d) MANOVA

The document initiated by the Bell
captain on a guest arrival is called.....
a) Errand Card

b) Lobby Control Sheet

¢) Scanty Baggage Register

d) Miscellaneous charge Vouchers

Discrimination pricing is

a) Low price is set in the early stages
of the lifecycle in order to build
market.

b) Where prices differ according to
different market sectors.

c) Where the price is determined by
the cost of the products.

d) Where price is set according to the
affordability of the market
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Synchronizing cash inflows and cash

outflows to optimize the cash balance

include:

a) Deferring disbursements

b) Speeding up collections

¢) Combining (A) and (B)

d) Stopping payment of current
liabilities

Herodotus visit to pyramids falls in the
category of

a) Cultural tourism

b) Leisure tourism

¢) Adventure tourism

d) Religious tourism

The erstwhile Great Eastern Hotel
(GEH) at Kolkata, Asia’s first luxury
hotel was commissioned in the year

a) 1830

b) 1840

c) 1850

d) 1860

Where would you place the Back papers
tourist on Stanley’s Plog’s continuum....

a) Psycho Centric

b) Mid Centric

¢) Allocenteric

d) None of the above

Mr. Hector Ceballos-Lascurain is
credited for coining which term?

a) Eco-tourism

b) Nature tourism

c) Sustainable tourism
d) Sex tourism

TERN was established in 2006 and
managed by UNWTO for Risk and crisis
management. What is TERN ?

a) Tourism Emergency Response
Network

b) Tourism Emergency Regulation
Network

¢) Tourism Emergency Response
Netlog

d) Tourism Emergency Regulation
Netlog
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Assertion (A) : Standard recipe is a
written document on the method of
preparing a dish with portion size, list of
ingredients and their quantity.

Reason (R) : Standard operating
instruction for the department to
perform its task for food preparation.

Codes :

a) Both (A) and (R) are true and (R)
is the correct explanation.

b) Both (A) and (R) are true, but (R)
is not the correct explanation.

c) (A)is true, but (R) is false.

d) (A)is false, but (R) is true.

Which is a Green field airport ?

a) Indira Gandhi Airport, Delhi

b) Rajiv Gandhi Airport, Hyderabad

c) Birsa Munda Airport, Ranchi

d) Lok Nayak Jay Prakash Airport,
Patna

Which is not a skiing resort?
a) Shimla

b) Auli

¢) Manali

d) Gulmarg

‘OPERA’ is a

a) Travel company

b) Software used for reservation of
hotel room

¢) Airline charter company

d) Franchise hotel chain

The production concept in marketing

emphasis on

a) High quality goods

b) Large volume of goods

¢) The product with best possible features

d) Products and services emphasising on
environment

“REVPAR?” is a test which

a) Measures income before fixed cost

b) Insists on performance measures
based on increase in operating
margins.

¢) Assumes that room revenue is a
good indicator of a hotel’s overall
performance

d) Indicates what a business unit
wants to achieve.
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Identify the balloonist who made world
record of 69,000 ft ascend?

a) Steve Fossett

b) Bran Johnson

¢) Amundson

d) Vijaypat Singhania

Which one of the following is not a
comparative scale?

a) Rank order

b) Constant sum

c) Q-sort

d) Likert

According to Butler, the main
approaches to impact mitigation are

a) Changing the tourist type

b) Changing the resource for resistance
c) Curbing tourist numbers

d) all of the above

Gandhara Art is the outcome of
a) Gracco — Roman technique
b) Gracco — Bactrian technique
¢) Gracco — Persian technique
d) Gracco — Indian technique

Which one of the following is correct
matched?

a) Khasis — Tribes of West Bengal

b) Red—Original inhabitants Indians of
North America

c¢) Bhils — Tribes of Assam

d) Todas — Tribes of Nagaland

The term ‘Gastronomy” refers to an
aspect of

a) Space tourism
b) Medical tourism
¢) Cultural tourism
d) Marine tourism

The restaurant service orders are taken
by

a) Captain

b) Steward

c) Busboy
d) Waiter
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Kitchen profit is also termed as gross profit

and is calculated on the basis of the

formula

a) Sales — Food cost + Labour cost =
Kitchen profit or Gross profit

b) Sales — Food cost = Kitchen profit or
Gross profit

¢) Sales — Ingredient cost + Labour cost =
Kitchen profit or Gross profit

d) Sales — Overheads + Labour cost =
Kitchen profit or Gross profit

Markets segmented into light-medium and
heavy user groups refers to

a) Psychographic segmentation

b) Behavioural segmentation

¢) Demographic segmentation

d) Geographic segmentation

A customer in a bar purchasing a glass
of beer may go right to the purchase
decision skipping information search
and evaluation is referred

a) Automatic response loop

b) Post purchase behaviour

¢) Consumer response management

d) Customer relationship

Assertion (A) : The interaction between
tourists and the host community can be
one of the factors that may affect a
community.
Reason (R) : As the tourists may not be
sensitive to local customs, tradition and
standards.
a) Both (A) and (R) are true.
b) Both (A) and (R) are true, but (R)

is not the correct explanation.
¢) (A)is true, but (R) is false.
d) (A)is false, but (R) is true.

Which is not a Jain Pilgrimage Centre?
a) Palitana

b) Pavapuri

c) Parsvanath

d) Bodhgaya

Which pass lies enroute to Leh?
a) Shipki la

b) Nathu la

c) Zozila

d) Bomdila
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Bloody Mary” and Screw driver” are

a) Brand of liquors served in hotel
bars.

b) Classical cocktails served in hotel
bars.

¢) Classical mocktails served in hotel
bars.

d) Brands of soft drinks served in
hotel bars

Which one of the following is
correctly stated?

a) Taj Mahal Palace Hotels and
Resorts are first LEED certified
hotel in India.

b) Vivanta by Taj are the first LEED
certified hotel in India.

¢) ITC Gardinea hotel is the first
LEED certified hotel in India.

d) Trident hotel of Oberois is the first
LEED certified hotel in India.

A unit of measurement determined when
one passenger travels miles on a
transportation by Air carrier

a) Carbon Miles

b) Passenger Kilometers
c) Passenger Mile

d) Transportation Miles

Which one of the following is correctly
stated?

a) Carrying capacity is measured on
the basis of expectation of visitors.

b) Carrying capacity is measured on
the basis of the perception of the
visitors.

¢) Carrying capacity is carried out on
the basis of facilities and
amenities.

d) Carrying capacity is estimated by
taking into tourist foot falls.

Principle component analysis explaining
the total variance is used for

a) Factor analysis

b) Conjoint analysis

¢) Clusture analysis

d) Discriminant analysis
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FIFO and LIFO are methods of
calculating

a) Depreciation

b) Inventory Valuation

¢) Net Investment

d) Working Capital

Assertion (A) : Perception represents the
process by which meaning is attributed
to an object, event or person
encountered in the environment.

Reason (R): Perception can be created
without experience and knowledge of the
object/person.

a) Both (A) and (R) are true.

b) Both (A) and (R) are true, but (R)
is not the correct explanation.

¢) (A)istrue, but (R) is false.

d) Both (A) and (R) are false

Using tourist data from each country to
aggregate total tourist demand is a
method popularly known as

a) Break down approach

b) Form up approach

c) Integrative approach

d) Selective approach

What concepts need to be considered

when studying the geography of travel

and tourism?

a) Spatial Scale

b) The geographical components of
the tourism system

c) Spatial interaction between the
components of the tourism system

d) All of the Above

The routes travelled between the
generating areas and tourist destinations
are known as, what?

a) Transit routes

b) Tourist routes

c) Travel routes

d) Geography Routes

Tourist flows can be explained by
a) Nuclear Model

b) Gravity Model

@) Nuclear Theory

d) Physics Model
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Qualitative research is based on
questions that are based on one of the
following:

a) Likert scale

b) Staple scale

¢) Semantic scale

d) Unstructured

Dublin is in which climate zone
a) Hot Dry

b) Cool Damp

¢) Cold Temperate

d) Cold Dry

RESEARCH METHODOLOGY
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What is the major attribute of

Correlation Analysis?

a) Association among variables
b) Difference among variables
c) Regression among variables
d) Variations among variables

What is the name of the conceptual
framework in which the research is
carried out?

a) Research hypothesis

b) Synopsis of Research

c) Research paradigm

d) Research design

How is random sampling helpful?

a) Reasonably accurate

b) An economical method of data
collection

c) Free from personal biases

d) All of the above

In order to pursue the research, which

of the following is priory required?

a) Developing a research design

b) Formulating a research question

¢) Deciding about the data analysis
procedure

d) Formulating a research hypothesis
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What are the conditions in which
Type-I error occurs?

a) The null hypotheses get
accepted even if it is false.

b) The null hypotheses get rejected
even if it is true

¢) Both the null hypotheses as well
as alternative hypotheses are
rejected.

d) None of the above

What does the longitudinal research
approach actually deal with?

a) Long-term research

b) Short-term research

¢) Horizontal research

d) None of the above

What is the main aim of

interdisciplinary research

a) To over simplify the problem of
research

b) To bring out the
approach to research

c) To create a new trend in
research methodology

d) To reduce the emphasis on a
single subject in the research
domain

holistic

The main aim of the scientific method in
the research field is to

a) Improve data interpretation
b) Confirm triangulation

¢) Introduce new variables

d) Eliminate spurious relations

A researcher is interested in studying
the prospects of a particular political
party in an urban area. So, what tool
should he prefer for the study?

a) Rating Scale
b) Interview

¢) Questionnaire
d) Schedule
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How to judge the depth of any research?

a) By research title

b) By research duration

c) By research objectives

d) By total expenditure on
research.

Which of the following is not the method
of Research?

a) Survey

b) Historical

¢) Observation

d) Philosophical

Which one is called non-probability
sampling?

a) Quota sampling

b) Cluster sampling

c) Systematic sampling

d) Stratified random sampling

Which technique is generally followed
when the population is finite?

a) Systematic Sampling Technique
b) Purposive Sampling Technique
c) Area Sampling Technique

d) None of the above

The process not needed in

experimental research is

a) Controlling

b) Observation

c) Reference collection

d) Manipulation and replication

Mean, Median and Mode are:

a) Measures of deviation

b) Ways of sampling

¢) Measures of control tendency
d) None of the above

The "Sociogram" technique is used to
study

a) Vocational Interest

b) Human Relations

c) Professional Competence
d) Achievement Motivation
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A systematic literature review is:

a) One which starts in your own
library, then goes to on-line databases
and, finally, to the internet

b) A replicable, scientific and
transparent process

c¢) One which gives equal attention to
the principal contributors to the area

d) A responsible, professional process
of time-management for research

How does qualitative content
analysis differ from quantitative
content analysis?

a) It is always preceded by
ethnographic research

b) It involves counting the number of
times certain words appear in a text

c) It is less rigid, as researchers are
constantly revising their concepts

d) It is less likely to be used by feminist
researchers

Closed ended questions are those

that:

a) Have a fixed range of possible
answers

b) Prevent respondents from allocating
themselves to a category

¢) Encourage detailed, elaborate
responses

d) Relate to the basic demographic
characteristics of respondents

Which of the following is not a

disadvantage of telephone

interviewing?

a) Researchers do not have to spend so
much time and money on travelling

b) Some people in the target population
may not own a telephone

¢) It can be difficult to build rapport
over the telephone

d) Interviewers cannot use visual cues
such as show cards

Errors occurred by due to chance or
accident refers to

a) Biased error

b) Unbiased error

¢) Systematic Error

d) Constant Error
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Sampling Error arise may be due to
a) Error of Origin
b) Error of Inadequacy

¢) Error of Manipulation
d) All of above

Snow ball Sampling is used for Data
collection through

a) Connecting Relations
b) Small Population

c) Representative

d) None of these

The Data which collected first time
by the Researcher

a) Primary

b) Secondary

c)Both A & B

d) None of these

Questionnaire should have the

following number of questions
a) According to the need of study
b) 30

c) 15

d) 50

Scheduled filled by
a) Enumerator

b) Respondents

c¢) Researcher

d) All of the above

Lottery system of sampling is called
as

a) Simple Radom Sampling

b) Purpose sampling

¢) Stratified Sampling

d) Convenience Sampling Technique

Research Conducted in classroom
atmosphere

a) Field Study

b) Survey

c¢) Laboratory Research

d) Empirical Research
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Research undertaken for the
knowledge purpose

a) Pure Research

b) Action Research

¢) Pilot Study

d) Survey

An essential Criterion of Scientific
Research is.......

a) Belief

b) Value

c¢) Objectivity

d) Subjectivity

An instrument used in method is
called.......

a) Sample

b) Technique

¢) Tool

d) Method

Which is not the randomized
Sampling Method?

a) Snowball sampling

b) Stratified sampling

¢) Cluster sampling

d) Systematic sampling

Qualitative research is based on
questions that are based on one of
the following:

a) Likert scale

b) Staple scale

¢) Semantic scale

d) Unstructured

Office Editing and are the two types of
Editing in research

a) Lab editing

b) Field editing

c) Class editing

d) Book editing

Interview with Detailed standardized

schedule is called as.............
a) Clinical

b) Structural

¢) Group

d) Direct
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Ethical Neutrality is a feature of
a) Deduction

b) Scientific method

c) Observation

d) experience

Which one of the following is not a
comparative scale?

a) Rank order

b) Constant sum

c) Q-sort

d) Likert

A statement made about a population
for testing purpose is called?

a) Statistic

b) Hypothesis

c) Level of Significance

d) Test-Statistic

The rejection probability of Null
Hypothesis when it is true is called as?
a) Level of Confidence

b) Level of Significance

c¢) Level of Margin

d) Level of Rejection

The rejection probability of Null
Hypothesis when it is true is called as?
a) Level of Confidence

b) Level of Significance

c¢) Level of Margin

d) Level of Rejection

Report are often used to display the
result of:

a) Experiment
b) Investigation
¢) Inquiry

d) All of these

Which type of report is report of
action .

a) Analytical report

b) Periodic report

¢) Recommendation report
d) All of these



93

94

95

96

97

98

99

oA R &1 quf Pear & Hifs 78 =W
R BIS g0 b fomm g g1
a) [ARQIVUTEAS SrfHU™
b) AUHTES ST
¢) SFIUgad SIIHUT
d) fafRmy e

o el AT 91 AR & A TR
YRGS 8|
a) OIS
b) guiHTHS
) HETHS
d) J=ATHD

MU I icd  FEUATATC
g

a) T fEueA

b) 3IHYUH S8

0 AT uREBeT

d) ST EfPHIur

i TYAT B ASTT B §ob, T IR THR & &9
# fipa fovan S &, o Ara &1 Y v b
T!I'R_'IT%:

a) SIRId

b) A

c) IMH™

d) 3T

IS $ IR REd" G & oG DI g2
a) fafedraa

b) 3R BIBR

o WL IRITR

d) TS 3R gl

Aol SUHRT T gd Tlerur s AT F fam

T!I'R_‘IT%:
a) ST fazawT
b) crm

S CLUEEIE]
d) &

RIS FITET T A R

a) ISt ufafAfia &1 aad

b) TNY T/RT IR HAT

o) T TNy ey

d) U BT U T B3l

16

93

94

95

96

97

98

99

describes the present state of
affairs as it exists without having any
control over variables.
a) Analytical research
b) Descriptive research
c) Applied research
d) Distinctive research

In the research is based on the
measurement of quantity or amount.

a) Qualitative
b) Descriptive
¢) Quantitative
d) Numerical

A Blue print of Research work is known
as

a) sampling design

b) research design

c) research hypotheses
d) research approach

If the grading of diabetes is classified as
mild, moderate and severe the scale of
measurement used is:

a) Interval

b)Nominal

¢) Ordinal

d) Ratio

" Who authored the book “methods in

Social Research”
a) Wilkinson

b) C.R Kothari

¢) Kerlinger

d) Goode and Halt

» Pre-testing of investigative tool is done

in the case of :

a) Data Analysis
b) Questionnaire
c) Ethnography
d) Observations

- The format of thesis writing is the same

as in

a) Writing of Seminar representation

b) Preparation of research
paper/article

¢) A research dissertation

d) Presenting a workshop/conference

paper
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Circle graphs are used to show

a)
b)
¢)

d)

How is one part related to other
parts?

How various sections share in the
whole?

How is one whole related to
another whole?

How are various parts related to
the whole?
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